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Chapter 01

1.1 (Sol) a
1.2 (Sol)
1.3 (Sol) [ 1- 5] [ 1- 4]
1.4 (Sol)
15 (Sol) 2013 9 (
)
T &2 CH(MHz) (&eHsteh AR} BE7|2 H 1
819~824(5)/864~869(5) KT "12.7.1~'22.6.30 Z0f&HEH11.8)
800 / 824~839(15)/869~884(15) SKT "11.7.1~'21.6.30 AEEH10H)
900MHz 839~849(10)/884~894(10) LGU+ "11.7.1~'21.6.30 AEEH1064)
905~915(10)/950~960(10) KT '11.7.1~'21.6.30 AMEEH(10)
"715'17,%(1‘&1%1 7O | gkt 13,8.30~'21.8.29 ol gHH13.8)
1735~1740(5)/1830~1840(10) KT 13.8.30~'21.8.29 ZAofaiE(13.8)
18GHz " 3745-1755(10)1840~1850(10) KT 11.7.1~'21.6.30 AEEH10H)
1755~1765(10)/1850~1860(10) SKT ~'2112.15 ZOEEH11.8)
1770~1780(10)/1860~1870(10) LGU+ 11.7.1~'21.6.30 TEE(10)
1885~1920(35) ojgd - IMT-TDD
1920~1930(10)/2110~2120(10) LGU+ 12.8.29~'22.8.28 ZoEE(11.8)
21GHz | 1930~1840(10)/2120~2130(10) SKT ~16.12.3 '06.7.28 SHHLGU+)
1940~1960(20)/2130~2150(20) SKT '02.12~"17.11 154
1960~1980(20)/2150~2170(20) KT 01.12.4~'16.12.3 154
2010~2025(15) HEE; - IMT-TDD
250Hz 2300~2327(27) SKT “12.3.30~'19.3.29 WiBro I EEH7A)
" 2330~2360(30) KT 12.3.30~'19.3.29 WiBro i & EH7A)
2363~2390(Z7) 0| gtet - SR F Uit
2500~2520(20)/2620~2640(20) = - IMT-2000/IMT-Advanced
26GHz | 2520~2540(20)/2640~2660(20) LGU+ ‘13.8.30~'21.8.29 20ietE(13.8)
26575~2615(40) o|gtet - H40| SAL AFERT
1.6 (Sol)2013 8 30
2.6¢ 1.8¢ 1.8¢
40MHz 35MHz 15M Hz
LGU+ SKT KT -
4,788 10,500 9,001 2 4,289

1.7 (Sol)

(http://www.rapa.or.kr:9090/data/frequency.asp )



http://www.rapa.or.kr:9090/data/frequency.asp

1.8 (Sol)]

Name |Bandwidth | Applications Notes
Ee [EE 10BASE T and Described in EIA/TIA - 568. Unsuitable for speeds above
E— 100BASE T4 Ethernet 16 Mbit/s. Now mainly for telephone cables
Cat.4 |20MHz 16 Mbit/s Token Ring Not commonly used
100BASE TX & .
Cat.5 [100MHz Common in most current LANS
1000BASE T Ethernet
100BASE TX & Enhanced Cat5. Same construction as Cat5, but with
Cat.5e| 100MHz )
- 1000BASE T Ethernet better testing standards.
Most commonly installed cable in Finland according to
Cat.6 |250MHz |10GBASE T Ethernet
the 2002 standard. SFSEN 50173- 1
Adds cable shielding. ISO/IEC 11801:2002 Amendment
Cat.6a/500MHz  |10GBASE T Ethernet 5
1.9 (Sol)
50 ; .
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< . http://physics.stackexchange.com/questions/113933/what - does an- analog- voice-

transmission look- like- in- the- visible- spectrum>


http://en.wikipedia.org/wiki/Category_3_cable
http://en.wikipedia.org/wiki/Category_4_cable
http://en.wikipedia.org/wiki/Token_Ring
http://en.wikipedia.org/wiki/Category_5_cable
http://en.wikipedia.org/wiki/Ethernet
http://en.wikipedia.org/wiki/Category_5e_cable
http://en.wikipedia.org/wiki/Ethernet
http://en.wikipedia.org/wiki/Category_6_cable
http://en.wikipedia.org/wiki/10GBASE-T
http://en.wikipedia.org/wiki/Ethernet
http://en.wikipedia.org/wiki/Category_6a_cable
http://en.wikipedia.org/wiki/10GBASE-T
http://en.wikipedia.org/wiki/Ethernet
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Chapter 02
2.1(Sol)c

2.2 (Sol) b

2.3 (Sol)

2.4 (Sol)

2.5 (Sol) b

2.6 (Sol)

2.7

(a) (Sol) 50
(b) (Sol) 25
(c) (Sol) 1/2
(d) (Sol) 50
(e) (Sol) 50

1 p7, T
(f) (Sol) = fo X0t = -

2.8

—2)/2]

(@) (Sol) S‘”[”(zt St —1) — — Lo —1)
t°+4 5

sinkw

w

(b) (Sol) [ ]5@) = kSakw)iw) = k{w

©) (Sol) f5 76% costs(tyit :fsf (Bt =f (0)=7
-5 -5

(d) (Sol) f5 7e% costs(t — it :fsf (Ft — 3t —f @)= &* cos:
-5 -5

(e) (Sol) j:Zg(T)é(t—ﬂdmm LEX = o)t



@ (Sol) I " %D cosfr (k— B)P (x— 3dx— f T H(06(x—3)dx= (3) — &cos(—2r)— &

—00

2.9
(@) (Sol) . E_(t) =3.75[W]
(b) (Sol) | E,(f) =11.25[W]
2.10 (Sol)
A LD ® +y O ¥ dt = XA + 4B 4B +C
A:fblx(t)rdt >0, B :fbx*(t)y(t)dt, c :fb|y(t)|2dt >0
NA+XB +B") +C >0
. f(x) =ax® +bx+c
b’ —4ac<0 . (B +B’)? <4AC ABC
[be*(t)Wt)dt+LbKDy?Ddt] < - [k [t [y [a
211
(@) (Sol)
(b) (Sol)
x(t):g é‘+—2‘e“+ e;’é?ﬁ ) Setr fi"?ey Bl (Te)ie (9
212 (Sol)
x(t) ~cf(), t, <t <t,
xt —cft t <tc<t,
et = .
0 otherwise
A Energy in the error signal: E, :L/:tze2 tdt :ftz X t —cf trdt let c=a+jb

t

Ref. |u+v|2: U+v U +V :Mz+|\r+ U v uv

Ee:fttz zdtfc*‘lzzxtf*tdtfcf:ftx*tdt +{:|2j:2}xt

1

A Criterion: minimize error energy
de, dE, dE

—=—4 =0
dc da Jdb

2
X t dt




dE

d;:—jfxtf*tdt—fzftx*tdt +af2’f t ‘(ziit,

dE . t % . t, * t, 2
. :fotf tdt—jfftx tdt +Bth )dt
dE,
—= = ‘dt =0
dc
C:E_ftl X t £ tdt
3
2.13(SO|) x(t):1+D2ej4"‘ —|—D726714ﬁ +D4é81 + D7464 8 + Dabm + D,Gf 1 :1_‘_2%1@*
=0’
2.14 (Sol)
€)) X(t) =sin(2nt) —sin(47t)
a,=0,a =0,b=1Lh=-1n=12 b =0
X(t) :i_(eim —gl?t _ g% 4 d )
2]
(b)
2 1 '
vy ™ -
X(t)——t/T ’ (.UOZE:T—, ao—Eﬁth———T —0
N
-1 p7 1 1 t .
a =— | tcospwtilt =—— co + —— sin
n T2 '.[:T ﬁwo w -I-2 @wO)Z S(]CUJ) nwo 0005 );r
1 T 1 T
=—— cosw I )+ —sinw] )— cosf wl )———sinf w
T2 (hw,)? @o)nwo 00)(n ZSQI)nwom-l;)
=0
—tcostwl ) 0
N
-1 p7, 1 1 t
b 7-Ff_T tsin(nw tidt = —— )Zsm(nwot) 7ECOS¢W“J
1 . T 1 . T
=—— sinNwT)———cosw] )+ sinQ wl )———cosf w
T2 [y (nw,T) o, bwd ) )2 0w ) e, af T )
:—i2 %sin(mr)— Z cos(n)
(hw /T) nm/T
_ 2=y
B nm
. ) ant an(; —jnw I jnw T Jnw T 7'wT0
D, = ]; il g f ]2- Te . +Té I e %
T? —jnw,|. T jnw, =N w, i w,)
1 | conrw ]l +—j 2sin w'g G
T —jnow, hw,)? ~jnmw




(d)

n

2r 1 0 ﬂ
~1, ao:T—{—fﬂJde; lit}zo
x(t) cosnt 0

fj—cosmt)jt +j: COS(‘Itdt] =0a,

7T

0 ©
COS’lt| _ COBt|

0 w
b zlf —sin(nt)dt+f sin(nt)dt‘—E
|/ = 0 ™ |7W n |o
2ficy
e n
T T ; ;
0 ) T —int —en —&7 "
D :if _e*lnldt_|_f e’lm dt]_ie e :—1 1 é‘ + é *
" op|J s 0 2r|jn | jn || 2r] n In
_1l-cosfr) 1-(Y
T in jnm
1 pTR 172 i '[1/2 2
:_f x(t)dt = f cosntdt = ST =—
TJ-R2 _12 T |

w,=2r /T =27, x(t) =cosnt , a,

2 T2 d 1/2 d 2 2
a, __qu/z X(t)cosnw tdt = 2f71/2 cosit cosPatdt _f;z cos @& n2 ¥ cas {n@it)
w2 Zsing(l— D) Zsin%( 14+ )
- 1+ B)

sinm(1— it . sinm(14 2}
m(1—2n) m(1+ )

_ Ay 2(-1)"

S rl-2) w1+ 2n)

m(1- B)

-1/2

2 .
b —_FLT>x(t)S|n Nw,tdt =0

bn
e g g 22 et L Y2 lay eemy
D, =7 fimx(t)e dt = fiuz cosnte™ ™ dt = 2f71/2 é +e dt
1| eint-2x gim(i+a) 12 B 1_ @m(1-2 )2 _ g w(l-n)2 gz jgan )2
2l i1 m) St )

== +—
2|jr(1-2) —j=(1+B)| ,
:1[21' sin{r(1-2)/2} 2 jsin{ #(121)/2} ]

2| jr1-m) (1t )
ey
d-22)  w(1+ D)

()



aozan:O

b, = 2" sinmyt 2f”2'(zr Mt = 2
= — Sin n + Sin n =
n —12 d 0 27N 2m

0 1/2
cos(2]rn1 _ cos(@n r
-1/2 0

_ 2’1 cosgmn )+ — cosfm )+ 1_ i{lf(—l)”}
27N 2m ™

_ 1 T2 —inwd _ 0 —J 2mt 172 ] 2mt
D Tfmx(t)e dt = f,uze dt+f0 el 2 g

. 0 . 1/2
—j2mt ) 2mt . .
= | +& | _ 1 [1—eJm —eim +1}:_L[1— cosn|
j2m | —j 27n| ] 2n ] 2m
-1/2 0
1Y
jmn
(f)
aozlfﬂ sin5tdt:—cos(5 :i(1+ cos,i ):—3
aJda /8 5t 3 10r

a = Efw sin5t cos Atdt = }f' sin(5+ @t)+ sin(5- 12tgt
mTJ /3 T Jr/3

_ 1lfcos(5+ h}) = cos(5- ﬁt)ﬁ
x| 5+ 5— 1 ]W

_ 1(1+ cos{(5+ )r / 3} L1+ cos{5- )T/S}]
T 5+ 5—-

b, —Efﬂ sin 5t sin htdt = Ef cos(5- B1)— cos(3 2wt
aJ /3 wJd /3
B i[sin(S— Nn)Y sinG+d) ]
/3

| 5-—xn 5+d ),
_ 1{—sin{(5 —2n)7 / 3} +sin{(5 +2n 7 /3
™ 5—2n 5+ &
D, = lfw singe 7dt — = [ @GR _gi G120 gy
" 3 j277 3
1 ej(S—m) e—j G+ ) 1 é(S—D m 'é(S—B )wl3 é'(5+2 )T é(sm )3
Cj2rliG-mn) 4'(5+2|)ﬂ/3_j 2r|  j 5-2) i 65+ )
1 1+ej(572h)ﬂ/3 1+e—j(5+m)w/3
T 21| (5-2n) (5 +2n)




2.15 (Sol)

2

15

1t

05

0

05

X t T0:4—7r , w,=2rl 4wl3 =3/2 Xt
3
B
n
47
B :if X t e’j””f’dt:if_l3 sin[St +i]ej””5dt
T I 4 J 3 3
3 i;ej[aJr%WI, —j[5+ﬁ] o 3 i;é[s-nwot +%]7 50 wd +fé
=— . - e Ydt=— |,
4r 3 2 43 3
An
. _i ej{5~nwot+5—;) +e~j(5+nwot +%} 3
" j8r|j 5-nuw, j 5+nw, |s
3
jZ 45nw, +5 i~ 5nuw,+5 G2 aBnw,+5 G52 snwy+5
3 —e?d + e’ —e 3
8r 5—nw, 5+nw,
w =3
° 2
(25 ~ (2 (10 =
3 e'{?’*“z”]_ ’{*”5} X [E”*“ 2”]_ *(*”“3]
Bn :78— +
T g Bl
2
[E 1] -[E 1]
3 @B _ g 3715 g12573 _e‘l 3"
=—— +
g e
2 2
yt
47
yt TO:? ) w,=2rl 47l3 12 =3/2



C
T

1 —inwg _ 3 47:: . —in w
f<T>yte dt_47TfO sin 5 e “°dt

ﬁ j5—nd0t o —j 5+nw'ol
_3 € dt
A7 2j
4r T . T
j 5nw,t gl 5wt 3 1'541%% 1 él Smwo% 1
5-nuw, 5+ nw, , 8r 5-nw, 5+ nw,
c ej 207 /3—2m _1 e—j 20c/3+2n 1
" 5-3 /2 5+3n/2
ei 20m/3 _ 1 e—j 200/3 _ q
~ 8r|5-3/2 5+3n/2
X t , Zzt Dn
zt :anCjM"t => B, +C, €&
n n=0
2.16 (Sol)
Xt T0
X)) =x t+T,
X(t+T,)) =C,+ > c cosnw, t +T +6
n=1
=C,+ Y G, €0S Nw,t +NwT  +6,
n=1
wy=2r1T, cosat + 2n +6¢ = cosat + 6
Xt =X t+To
X t T0
2.17 (Sol)
® 0 O<t<mw
X(t) =
1 n<t<2r

x(t)



x(t) = Z D e

n——x

- f x(te M dt = = f edt= - *Jn[ i ]2

1 1

2.18 (Sol)

zf%eﬂ el _{l —
X(t) :n;%jz_ﬂﬂ{l —(-De™
_ 2 O<t<mw
v = 0 r<t<2r
y(t)
0, =L [“zar = L. 2 fen]
2w Jo 2r —jn 0
e 1= g (1))
—Jmn Jm
- 1 jnt
y(t) = ;c ﬁ{l —(Dhle
Z(t) =X +¥
1-(D%
x(® = n,z;x j2mn
X(t) = i Xnejzwﬁ , YY) = iYnejZWﬂ(

127' t-a) —]27~a ]27’—1

YO =xt-8 =3 Xe ™ =3 Xe e =3

n=—o0 n=—oc

—j 270 j2ﬂ1a

Xe T =Y, X =Ye T

n n n n

2.19 (Sol)

2= [ Mft-Ydr =

z =20 [ x@)yt—ndd-e™ dt

n
TO <To> J T >

[ x)E [ wt-7 e idtdr

<Ty> TO T o>

u=t—r7



7i _ . —inwd . i . Sin wols +7)
z = x(T)LO>>(t 7D -e dth_j;T0>>(7)T0 Ve dud-

T <To> T o>

0
_ i . —inw . Sinwor o . ) in wgr
_f<To>X(T)[TU [, v emedyerrd=[ -y & d

1 e
=T .= x(e"dr.Y =T XY
To <T0> ( n Oxn n
2.20 (Sol)
_R2 2 2 o 2
E, _clExl +c2EX2+c3EX3+---— nan&

N
X)) =>cx (9 t <t<t,® =,

n=1
E, f_tfl|clx1(t)+c2x2(t) +--~+CNXN()|2dtf;zlcﬂx(l) |2+c22|x(2)t|2+~--+q\2, |X,\Q)t|2dt
= c7E, () +C5E, (O + - +CE, ()

t, , 0O m=n
f x_(Ox()dt =
11 m n E

n

m=n

2.21 (Sol)

KO = YD = 3D —24+d7 et 1 &7 4 (6 B 4 el

nN=—oc nN=—0o0

—2+2cos{gt]+ cost — 2 = 2 2sih() cog(2)

2.22 (Sol)

2.23 (Sol)

2.24

(@)
(b) T=1 :



x(t) for n=50

()




Chapter 03

3.1 (Sol)

3.2 (Sal)a, b, c,d

3.3(Sol) b

3.4 (Sol) b, ¢

3.5 (Sol) b, ¢

3.6 (Sol) b

3.7
(a) (Sol) x(t) =rect(t/4)- £) X(w) =4Sa(w)-S& (v /2)
(b) (Sol)

Xt =u()-e Y, () S a6 + o et o -
Jw a+jw
x(t) & X() =nfd) + >
Jw a+tjw

(c) (Sol) x(t) =rect(t/2) Hrect( /4) +ect( £6) <« X(w) =2Sa(w)+4Sav)+ 6Sa(d |
(d) (Sol)



—al| 2a

e - 2 2’
a” +w

a=1

a>0

o
oY) = 67 oW =
G(t) < 279(—w)

1 et o]
- X(W =27 =
14t2 2

1
1+w

2

X(t) =

(e) (Sol)X(w) =Sa(w/2)e!”+Sa(w/2)e ' =Sa(w/2)(e'* +e ) =2Sa(w/2)cos w

(f) (Sol) x(t) — tSat) —t S't—”t _sint X () = {Ew-d) +§ w1}

3.8 (Sol)
X,(t) =@ + j)cos 21t x rectf /2m) X(w)

X,(s) = zi A +D)Aw -2 + w42 7] =2 5a(r)
— (Lt j)dSa{r(w — 20} +Sa{ £ w + 23]

X, (w) :2%(1 —NA w47 +{ w+47)] 2 Sa(n)
= @+ J)n[Sa{n(w —4m} +Sa{{ w+4 )]

X () = %(—1 )T w—67) + & w+6 7] 2 Sa(r)
= (-1 +])rSa{m(w —6m)} +Saf { w +6 B}]

X, (w) = 2%(—1 —NAdw 87 +{ w+87)] 2 71Sa(mw)
= (-1-j)rSa{r(w —8n)} +Sa{{ w +8 B}

y(t) Y (W) = _XAIXM

3.9 (Sol) |
Xt =ytszt,yt =>86t-nTg,zt =rectt/ r

> 2 & 27N
Y w=Fyt =F{> 6t nTyi="> 6lw—
= To =3 To

Z w=F zt =F rectt/ r —ﬁa[w—;]

X w=Y wZ w:2_7r Z(Sw—zwn TSa[ﬂ]:E S
T T, 2 T, =

—0G

Tn

T

0

-

2m

0

|



3.10 (Soal)
X(t=2frect( 14) —NA\+t2)}
X (W)=F[2Arect( ¥4) —(A\t2)}] 8Sa@2 )4Sa (*)w

3.11 (Sol)
X(t) =3 cos(wgt + 0)
= 3 coswgt c®d — snwd sind
FIx(t)] = 3cosOF[cosugt |- 3 sifF[sinwd ]
= 3mcost 6w —wp)+ 0w +wp) +j3rsing dw—wg —0Ww+wg
= 3m(cost + | sind P w — wp) +37(co —j snO)d(w + wq)
= 3re 65(w — wp) + 31 (W + wp)

3.12 (Sol)
X,(t) X,(t) =x(t 1) . y,() =y (t -1
- X (1) = =2x (1) +x(9D y, () ==2y,(1) +y ()
3.13 (Sol)

Sa(rt )* Sagt )« S& ¢t /2) ={Sa(t) *Sa(t )} *Sa’(t /2) = Sa(t)* Sa t /2)

S& (it 12) 2A(w / 7) Sa(it )+ Sd @t /2)
rect{w /@n} 2 Kw/¥2 Aw /) , Sd (it 12)
3.14
(a) (Sol) H(w) =1 —recfw/ (2 w]
. | Sy RN (7| P R
h(t) =F {1—rect[aﬂ_ > f% [1 rect[zuc”e dw = &(t) er%e' dw
So) - = — esa(y)
j 27t . i

(b) (Sol) HW) =[1 —rect{ o/ 2 «e “td

h(t) = Fl[l—rect[ w ]e”d} =§t-t) —ﬂSa{w[(t -t}

2w T

(c) (Sol) ( ) e )it
®) () ty



3.15 (Sol)
20[rad/sec]

|H1 w | = rect

=
220

100~140[rad/sec]

|H2 w | = rect

Hw = |H, w|t]H, o] et [rect[

F TSaT—

3.16
(a) (Sol)

t ]
2
gt—t, =G wel®

- I

w

0 2 20

22
20[msec]

27 rec{_—w] 2 rec{f]
T T

220

gté‘“'5 =Gw—w

2

S

2 20t
al I
2

EOSa 20
v

20

(j] eﬁj w20 10°



